AIRADZ (7%)

01 MICEREAHASERICIE. EREAMEDLHIVETY,

. . s .
B ADHBHIRR ISR S EARBORA [ ¥ s
ZRICET 28EME o . .
£
e E
R B EE O E O A EHE
BIEAD = (K) ({HE12)) ! BN N B B R
(4) X ((12) X 1%0.12)
2
i (IR B0 5 b BRI BR T 75 B LA Sk 00 %8
| DA FHE 2
%
=
g EE S RS- S 7 ®
(1) D 5 b NS A DRBRFFTE R -t
B BRI O A% & 2 IR E e =)
ggﬁm%EWEWQ%ﬁ
)
i
%
o | FERHE SRR T B 0 > € 3| »
it @ + @)
&5 ﬁﬁ(7>>5%X£i(7)>8%0)%é\15 0.35
My R BT EE O LA B
54 5
% (BEREEADORFEAD = (L) 5] DE&E) ol
(9) > 10 % O 35 & O 5 & & &
=
il (9) = o5 ) ¥ 2 s
wlw W o B O X B o E ;
. & 6 Bl UM DUT 3 A g s )
(1) =5 0. 1% 82 5841201
£ %8
a 20 &
SR B R R BB £ EA L TV H18E
5 & @ BRI EOREIN : [THIIFIREEEE8% D 0 % 3 )
M1 RIEFEBEDOF4TH| X2
2t @ TRHFS MW - 11057913 1 XI1X[10621)3% 2
7 K /= AN = .
w|T BB & WO Q) EREIE 20H0S%E
Z; (BRI DRIEAD = (L) [10) D)
i X1 ERFEIHEEEFOBED I FE IIE (KHES : 110579))
Gl mom % ® M FHR31E 4 A 1 BRTICBIA L= R R
. W X2 FBEMNIFAIE(RHES : [10621))
i ® TR A H 1 BEICELT A ERE LR
oW oA BB BB A
Bl 12 58 ‘ 10
| 100D “gg X0 LR R YT
. 0. 12K D8 A ik (5) = 0 A 1X0.12) (BIEAD = (=) 1T0O)])
BR1(9) > 10 % o 3 & o> {2 b %l 89 %
| 10
N uw—fﬁ)xa5 11
0. 1% 2 2% 61320.1)
7}
LB owmo® B B & BN BB o 8B R ﬁ%
5 (10) + ((10) X (1)) 1o 18) — (19)
ONER A DL 3 6 1 ) 4 0)
L 0.17% 8B % 5 %4 1%0.17)

- 18 -

peu

SELTS >

L+l

| - E -

7

M 4 AT



